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Paper 11

(Soc1oLOoGY)

1. Who among the following authored the
book ‘Dynamics of a Rural Society’?

(A) R. K. Mukherjee
(B) P. N. Mukherjee
(C) N. K. Bose
(D) B. N. Seal

2. Who authored the book ‘The Structure of
Hindu Society’ (Hindu Samaj Er Gathan)?

(A) Surajit Sinha
(B) N. K. Bose

(C) R. K. Mukherjee
(D) P.N. Mukherjee

3. Who among the following conceptualized
the notion of ‘Urbanism as a Way of Life’?

(A) L. Wirth
(B) R. Redfield
(C) R. K. Merton
(D) M. Castells

4. Select the correct statement on the use of
questionnaire as research tool.

(A) Questionnaire is personally executed
in the field by the researcher.

(B) Questionnaire is used only to collect
qualitative data.

(C) Questionnaire is mailed to the
respondents but subsequently filled
in by the researcher herself/himself.

(D) Questionnaire is mailed to the
respondents and filled in by the
respondents.

1. ‘Dynamics of a Rural Society’ 367 (F14F
(e
(A) W9, . JAE
(B) ol @=1. Gt
(C) @v. F. @™
(D) . @a. A=
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5. Find out the correct answer from the given
Assertion (A) and Reason (R):

Assertion (A) : There is a close relationship
between the owner of the land
and the worker in the field.

Reason (R) : Types of peasants depend

according to the size of
landholdings.

Select the correct answer from the codes given
below:

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation for (A).

(B) Both (A) and (R) are correct, but (R) is
not the reason for (A).

(C) Both (A) and (R) is correct.

(D) Both (A) and (R) is incorrect.

6. In Hindu society, marriage of a widow to
the husband’s brotherisreferred to as
(A) Polygyny
(B) Levirate
(C) Polyandry
(D) Endogamy

7. Whatis the process by which groups seek to
preserve some advantage foritself by monopolizing
resources and restricting access to the group?

(A) Social action
(B) Social construction
(C) Social closure
(D) Social conflict

8. The hugging of trees by women to prevent
them from being felled took place in which region
of the country?

(A) Bastar

(B) Meghalaya
(C) Garhwal
(D) Kashmir

5. e 7377\9 (Assertion) 8 Q?@(Reason)-?f
T A ol 0 2

RS (A) ¢ whE e @R The Fao
9 |
2 G AR S fofe 3
FIFE 2PV o 27 |
HIF (PG 15 T 2
T 5
(A) (A) 9% (R) ToxE A0S 9% (R) =&
(A)-3 &= AT A7 |
(B) (A) @<k (R) Toxd #f<s 5% (R), (A)-=
el AT A T |
(C) (A) &=k (R) Tox3 A< |
(D) (A) 9% (R) Te33 Afds =17 |

e (R)

6. 2 FTIICer o FIN ©IRE= A [l (e
ERIEGEG xS
(A) HAffefa
(B) Gfeta6
(C) =lfrenie
(D) «tstonfs

7. @ AR M (D T G R
G2 (SBICS AR RS A7 I Woema
Gy g Al FRTH A0 BT ©f 2 ¢

(A) iifers fema
(B) e fesfiet
(C) ANEF @B
(D) ANIfE 2%

8. FHI QIR AR A FHE e
ATl SIreaEd @i wzers @2l i 2
(A) ]9
(B) Qe
(C) MBI
(D) =




9. Match List-I with List-1I

List-1 (Contributions) List-1I (Scholars)
(a) Rampura village (1) B.R. Ambedkar
(b) Indology (ii) Irawati Karve
(c) Subaltern perspective (iii) M. N. Srinivas
(d) Hind Swaraj (iv) M. K. Gandhi

Select the correct answer from the codes given
below:

Codes:
@ b © @
(A) @) (@ G 3Gv)
B) Gi) G) @O (Gv)
© Gv) @) G @
D) @) @Gv) @ ()

10. In Bengal, the custom according to which a
man marries a girl belonging to the same status or
to one which is only of a slightly lower status has
resulted in which phenomenon?

(A) Kulinism
(B) Shaivanism
(C) Vaishnavism
(D) Hypogamy

11. Who among the following studied Juang
tribe of Orissa?

(A) N. K. Bose
(B) A.M. Shah
(C) S.C.Dube
(D) B. K. Roy Burman

12. Correlation coefficient lies between
and

(A) —land 1
(B) Oand 1
(C) —1andO
(D) 1and?2
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13. Which of the following format is not part of
the elements or theory in Sociology propounded by
Jonathan H Turner?

(A) Meta-theoretical schemes
(B) Analytical schemes

(C) Modelling schemes

(D) Constructive schemes

14. Identify from the following leaders, who
was the immediate beneficiary of the social reform
movement of the Ezhava community?

(A) Dayanand Saraswati
(B) Jyotiba Phule

(C) Narayan Guru

(D) Ravidas

15. Supremacy of science over non-sciences is
attributed to

(A) Postmodernism

(B) Postcolonialism

(C) Positivism

(D) Poststructuralism

16. Who has used the term ‘Serendipity’ in
sociological research?

(A) R. K. Merton
(B) J. Galtung
(C) Karl Popper
(D) C. Selltiz

17. The concept of Habitus as a basis for a
cultural approach to structural inequality with a
focus on the embodiment of cultural representation
in human habits and routines, was originally used
by:

(A) Pierre Bourdieu
(B) Morbet Flias

(C) Anthony Giddens
(D) Pierre Bayle

13. (@I @2 S guife AEklRe @@ie
TG0 TTrered ST T $OE N Y&
7372

(A) o1 fRcnfaare &=
(B) =ui=f=GTe &

(C) wrefer &

(D) IS

14. FwiRe afeast e e e bize
T R qelent (1Bl Twifes SEES
SR 2FS JFerceldl & ¢

(A) VR O
(B) cerifeat et
(C) TR w2
(D) Ffwm

15. S-REIR S Reeig sifdeier Ie1 23 ¢
(A) (IFT SfeeT
(B) (oIPG FalfwIeTers
(©) HAfefbfees
(D) (PTG FiprReres

16. TEeIfgF SIERAT & ‘CRARSHT w0
IR AR ?
(A) 9. . o
(B) (% 9T}
(C) e ool
(D) ™. =fos

e <

17. e eI Ao 2ifefiogs T 2ol
T30 @ NI © SPTTSlR 431G AcFos fefe Rl
RGP @@l oo 1 7= aze 2@, o
20T

(A) Fie= @i
(B) SIE=G Tt
(C) =G forest
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18. Which among the following books is not
authored by M. N. Srinivas?

(A) India’s Changing Villages

(B) India’s Villages

(C) Social Change in Modern India
(D) The Remembered Village

19. Who among the following is considered a
practitioner of ‘Theoretical Pluralism’?

(A) A.R.Desai

(B) G.S. Ghurye
(C) M. N. Srinivas
(D) R. K. Mukherjee

20. The concept of ‘runaway world’ is used by
(A) Anthony Giddens
(B) Pierre Bourdieu
(C) Jurgen Habermas
(D) Manuel Castells

21. Whois the author of the book ‘The Religion
of Java’?

(A) Erving Goffman
(B) Manuel Castells
(C) Clifford Geertz
(D) Claude Levi-Strauss

22. Who emphasized the significance of the
dialectical model in studying rural society?

(A) A.B. Mukherji

(B) Ramkrishna Mukherjee
(C) Sudipta Mukherjee
(D) N.K. Bose

X-7

17-11
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(A) ST foites
(B) formz @i
(C) ol QI
(D) SUIGE WP
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(A) wrfeR oIl
(B) 3OIICHET T
(C) Tgw¢ foibe
(D) 7 Gifo-%
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23. Michel Foucault has used which of the
following concepts?

(1) Governmentality and Bio-politics
(2) Bio-politics and Lifeworld
(3) Sovereignty and Discipline
(4) Archeology of Knowledge

Choose the correct combination from the options
given below:

(A) (1) and (3)
(B) (1) and (2)
(©) (@) and (3)
(D) (1) and (4)

24. Match List-1 with List-1I:
List-1 (Research)

(a) Field observation

List-1I (Method)
(i) Survey
(b) Looking at cause and (ii) Content Analysis
effect relationships

(¢) Aim to describe a
few characteristics
of a large population

(d) Analysis of
newspaper and
media Report

(iii)) Empirical
Research

(iv) Explanatory
Research

Select the correct codes from the options given
below:

Codes:
@ B © @
(A) i) @Gv) @) 3
B) Gv) @ (@) (i)
© Gv) (@) @) (@)
D) @® G > @1v)

23. feeis el [Mwfeie diRelef St @Fn
T[RRI AR ?
(1) TSROt «ak -
(2) -2l @3k FARTeTT
(3) ARCOTTY @I *eal
(4) SIS AqOg
Tiwa el (A Aida Tex vaw e ¢
(A) (1) €= (3)
B) (1) @R (2)
(€) (2) 4=k (3)
(D) (1) 9= (4)

24. ©fFHEH-93 AT OffeF--9F ANGRL

A S
ek RGISERISIE oifer-l (rale)
(a) CFq 2Tl () AT
(b) JFIF G FeI] (i) Revee Retad
TEe s el

(c) « gz GPRAE (iii) SfowonE®
(2FFCe FERL @RF SRl
Fofent 1

(d) Mg g3 PSR (iv) IJPRERR Sic=ell
fReoticha s

T3 FPIG [ T 8

PIo7] 8

\

@ ® (@© (@@
A) G Gv) @@ ()
B) Gv) @O G (i)
© Gv) () @) @
D) @ G G Gv)



25. Find out the relationship from the two
statements given below:

Statement-1 : Durkheim argued that society
has no primacy over the
individual person asitis not far
more than the sumofindividual
acts.

: Gidden’s approach begin from
the recognition that people
actively make and remake the
social structure.

Select the correct code from the alternatives given
below:
Codes:

(A) Both Statement-I and II are correct;
and Statement-II is the reason for
Statement-1

(B) Both Statement-I and II are correct;
and Statement-II is not the reason for
Statement-1

(C) Statement-II is true but Statement-1
is false

(D) Statement-II is false but Statement-1
is true

26. Match the List-I with List-II:
List-1 (Tribes) List-1I (Places)

Statement-11

(a) Khasi (i) Niligiri Hills
(b) Toda (ii)) Meghalaya

(c) Munda (iii) Odisha

(d) Khond (iv) Chhota Nagpur

Choose the correct option:
Codes:
(@ b (© (@
A) G @@ (>Gv) (i)
B) @@ aG) (Gv) (i)
© @G @ @ (v
D) Gv) @G @ (D)

27. Who was the first to use the word
‘falsifiability’ in the context of social sciences?

(A) Thomas Kuhn
(B) George Ritzer
(C) William J. Goode
(D) Karl Popper
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28. The studies of rural society in India by the
sociologists and social anthropologist largely
focused upon:

(1) Categories of caste and community

(2) The analysis of rural and agrarian social

structures

(3) Analysis of placed changes introduced by
the State in the rural society

(4) Finding cultural impediments to
development of Indian rural society
Choose the correct option:
(A) (1) and (2)
(B) (2) and (3)
(C) (3)and (4)
(D) (4) and (1)

29. Which one of the following is a suspicion of
outsiders combined with a tendency to evaluate the
culture of others in terms of one’s own culture?

(A) Assimilation
(B) Racism

(C) Ethnocentrism
(D) Ethnography

30. What is the nature of household in the
traditional ‘Tarawad’ practices among the Nayars
of South India?

(A) Patri-Matri lineal Kin
(B) Patrilineal Kin
(C) Matrilineal Kin
(D) Neo-lineal Kin

31. Whoasserts that social theorizing involves a
‘double hermeneutic’?

(A) Jurgen Habermas
(B) Karl Manheim
(C) Pierre Bourdieu
(D) Anthony Giddens

X-10
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(A) STz
(B) 3fam
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(D) 92l

30. W SIS ATRAWE N AT Ao
ORI (Tarawad) 2T AFAIGE A= 1F g7
ISRGIERE

(A) G- ettt e
(B) iifGferfeiet foe
(C) iGferfre fo
(D) Fe-ffaiet e

31. AMfEF©GsIIE ‘double hermeneutic’ HIFE
AFfers R vy MafeeEm, fof 26 ¢
(A) ot =
(B) e spieT=izw
(€) P @ifve
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32. Which theory can more technically be
described as a ‘maternal-semiotic’ method?

(A) Social Construction of Technological
Systems

(B) Actor-Network Theory

(C) Strong Programme in Sociology of
Science

(D) Scientometrics

33. Which term was used by Thomas Kuhn to
state that science at any given time as being
dominated by a specific term?

(A) Paradigm
(B) Model
(C) Approach
(D) Theory

34. Who argues that public sphere was eroded
by some of the very forces that stimulated its
expansion?

(A) Alfred Schutz

(B) Harold Gar Finkel
(C) Jurgen Habermas
(D) George Luckas

35. Who among the following is the exponent
of ‘Interpretative Sociology and Critique of
Positivism’?

(A) Vilfredo Pareto
(B) Karl Mannheim
(C) Alfred Schutz
(D) Karl Marx

36. Who rejected consistency and
correspondence conditions to validate any scientific
theory?

(A) Thomas Kuhn
(B) Karl Popper
(C) Rene Descartes
(D) Paul Feyerabend
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37. Who s the author of the book —The Power
of Identity?

(A) Erving Goffman
(B) Manuel Castells
(C) Clifford Geertz
(D) Claude Levi-Strauss

38. Which one of the following isused in causal
analysis?
(A) Pearson correlation
(B) Frequency distribution
(C) Standard deviation
(D) Linear regression

39. Who coined the term, ‘ethnocentrism’?
(A) A.R.Radcliffe-Brown
(B) B. Malinowski
(C) W.G. Sumner
(D) H. Garfinkel

40. Who is the author of the book ‘Risk Society :
Towards a New Modernity’?

(A) R.F.Dasmann
(B) Ulrich Beek
(C) J. B. Bresler
(D) E.P. Odum

41. According to whom, ‘Marriage is a contract
for the production and maintenance of children’?

(A) Bronislaw Malinowski
(B) Robert King Merton
(C) E.B. Tylor

(D) A.R.Radcliff-Brown
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37. The Power of Identity 368 (713 (F2
(A) wEfer sREpia
(B) UGS T
(C) Treeerg fober
(D) 7 Gifo-%

38. I R F0q NHd @ 1w
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(A) o @ifFEme
(B) frcrif fefge=a
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40. ‘Risk Society : Towards a New Modernity’
TS (CTIF 2=
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(B) Teifed (75
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(D) 2. . s

41. ‘Marriage is a contract for the production
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42. Whois the author of the book ‘Ideology and
Utopia’?
(A) Karl Marx
(B) Karl Mannheim
(C) Karl Popper
(D) Michel Foucault

43. According to Pierre Bourdieu, the way one
speaks or has an accentis an form of
cultural capital.

(A) objectified

(B) embodied

(C) institutionalized
(D) unusual

44. Who among the following defined sociology
as the study of ‘Social Action’?

(A) Talcott Parsons
(B) Max Weber
(C) G.H.Mead
(D) Robert Merton

45. Which one of the following was not a feature
of the Operation Barga Programme of the
West Bengal Government?

(A) Security for the sharecroppers by giving
them the permanent land rights.

(B) Ensuring 75% of the produce from the
land for the sharecroppers.

(C) Providinginstitutional supportlike loan
etc. for land cultivation to the
sharecroppers.

(D) Promoting commercialisation of
agriculture at the grass-root.

46. Who among the following had contributed
to the issue of poverty and deprivation index
in 1979?

(A) John Goldthorpe

(B) Peter Townsend

(C) Immanuel Wallerstein
(D) William Cockerham
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47. Who defined class “Consisting of those
persons who have asimilar ability to obtain positions
in society, and enjoy them via an appropriate
lifestyle”?

(A) Karl Marx

(B) Max Weber
(C) George Simmel
(D) Adam Smith

48. Given below are two statements, one
is labelled as Assertion (A) and the other as
Reason (R):

Assertion (A) : The globalization has

intensified exclusion,
marginalization and
disconnection among
different classes of people and
regions.

Reason (R) : It is only due to economic
reforms.

Choose the correct option:
(A) Both (A) & (R) are true, and (R) is the
correct explanation of (A).
(B) Both (A) & (R) are true, but (R) is not
the correct explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

49. Which among the following is not a
characteristic of M. N. Srinivas’s concept of
‘dominant caste’?

(A) Numerical strength

(B) Economic power through the
possession of land

(C) Membership in militant organizations
(D) Political power

50. The Tebhaga movementtook placein which
one of the following years?

(A) 1937
(B) 1947
(C) 1957
(D) 1967
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51. The idea of ‘hidden curriculum’ in this
education system was emphasized by which
scholars?

(A) Durkheim and Parsons

(B) Herrnstein and Murray
(C) Perry and Francis
(D) Bowles and Gintis

52. Match List-1 with List-11I:
List-1 (Books) List-1I (Authors)

(a) Risk Society: Towards (i) C. Wright Mills
a New Modernity

(b) The Power of Identity (ii) JeanBaudrillard’s
(¢) The Power Elite (i11) Ulrich Becks
(d) Consumer Society  (iv) Manuel Castells
Choose the correct option:
Codes:
@ b © @

(A) @) @Gv) @ (D)

B) Gi) @@ >Gv) (1)

© @© @)y 3G o Gv)

D) Gv) @G (@ @

53. Match List-1 with List-11I:
List-1 (Contributions) List-1I (Scholars)

(a) The cultural division (i) Shulamith
of labour Firestone

(b) Culture and the (ii) Sherry. B. Orther
devaluation of
women
(c) Theorizing Patriarchy (iii) Ann Oakley
(d) The Dialectics of Sex (iv) Sylvia Walby
Choose the correct code:
Codes:

(@ b (© @
A) @) @ Gy @®
B) Gv) G G @)
© @® Gy (Gv) (i)
D) G Gv) @) (i)
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(D) Gi)y (@Gv) () (i)
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54. In Indian weddings often there is
predominance of what is called ‘conspicuous
consumption’. This can be applied to indicate two
things:

(1) Reflection of the ethnic position of a person

(2) Display of wealth

(3) Providing expensive food

(4) Demonstration of one’s status

Choose the correct option:
(A) (1) and (2)
(B) (3) and (4)
(©) (1) and (3)
(D) (2) and (4)

55. While writing about the diversity of rural
settlements, Bernard Cohn has notidentified which
of the following village pattern?

(A) Nucleated village
(B) Hamleted village
(C) Dispersed village
(D) Joint village

56. Match the books with the authors from the
list given below:

List-1 (Books)

(a) Magic, Science and
Religion

List-1I (Authors)
(1) E. Durkheim

(i1) B. Malinowski

(c) Elementary forms of (iii) M. Weber
Religious life

(b) Totemism

(d) Ancient Judaism (iv) C. Levis-Strauss
Select the correct match:
Codes:
@ b © @

A @ G @3)  3Gv)

B) @Gv) @G G @)

© i) aGv) @G @

D) a) @Gv) @ (i)
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57. In which of the following work Karl Marx
asserted that “the proletarians have nothing to
loose but their chain. They have world to win.
Working Men of all countries, unite.”?

(A) Acontribution to the critique of Political
Economy

(B) German Ideology
(C) Communist Manifesto

(D) The Economic and Philosophic
Manuscript

58. Arrange the following theorists in
chronological order:

(1) George Simmel
(i1) Robert K. Merton
(ii1) Karl Marx
(iv) Talcott Parsons

Select the correct match:
Codes:

A @) Gv) @O ()
®) @@ @) G 3Gv)
© @i @ (Gv) (i)
O @ G Gv) (G

59. What does ANCOVA stand for?
(A) Analysis of Variance
(B) Analysis of COVARIANCE
(C) Analysis of Variable Average
(D) Another Variable Average

60. Whichscholarsoughttolink Indian Kinships
system, through the structure of their vocabularies
of Kinship terms, to the major sub-continental
language groups and sub-linguistic areas?

(A) Leela Dube
(B) Patricia Oberoi
(C) G.S. Ghurye
(D) Irawati Karve
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61. Ethnomethodology literally means the

(A) Methods that people use on a daily
basis to accomplish their everyday
lives.

(B) Useoftechnical reasoningineveryday
lives.

(C) Scientific Tamper.
(D) Interpretations of Symbols.

62. Who argues that grand theoretical schemes
are premature since the theoretical and empirical
groundwork necessary for their completion cannot
be performed?

(A) Talcott Parsons
(B) Robert K. Merton
(C) Anthony Giddens
(D) Edward Said

63. Among the early industrial sociologists in
India, who has authored the book—The Social
Framework of an Indian Factory?

(A) E. A. Ramaswamy
(B) G. S. Ghurey

(C) N.R. Sheth

(D) Sharit K. Bhowmik

64. Who said that globalization is the growing
reciprocal interdependence and integration of
various economics around the globe?

(A) Anthony Giddens
(B) Meghnad Desai
(C) Henderson Hazel
(D) Martin Knor
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65. Which of the following scholars contributed
to the area of °‘Education and Cultural
Reproduction’?

(1) Basil Bernstein
(2) J. Lacan

(3) Steve Bruce
(4) B.S. Turner
(5) P. Bourdieu

Choose the appropriate option from given below:
(A) (1) and (5)
(B) (2) and (4)
(©) (4) only
(D) (3) and (4)

66. When an authority is asserted by the leaders
and accepted by the followers on the belief that
there is a virtue in the sanctity of age-old rules and
powers is described in Weberian terms as an
example of

(A) Personalised authority
(B) Charismatic authority
(C) Traditional authority
(D) Rational authority

67. Which one of the following factor is
negatively correlated to modernization?

(A) Achievement motivation
(B) Cosmopolitanism

(C) Individualism

(D) Religiosity

68. In which of the following work Marx
described productive work as serving a dual
purpose?

(A) German Ideology

(B) The Economic and Philosophic
Manuscripts

(C) Das Capital
(D) Dialectical Materialism
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69. Given below are two statements : one
is labelled as Assertion (A) and other is labelled as
Reason (R):

Assertion (A) : The prevailing mode of
development through
industrialization and obsession
with infinite growth has
impaired eco-system.

: Obsession with growth
without limits has
overstrained the natural
resource base.

Reason (R)

In light of the above statements, choose the correct
answer from the options given below:

(A) Both(A)and(R)are true, and (R) is the
correct explanation of (A)

(B) Both(A)and(R) are true, but (R) is not
the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

70. Who propounded the concept of ‘thick
description’?
(A) Emile Durkheim
(B) Louis Dumont
(C) Clifford Geertz
(D) Talcott Parsons

71. Which among the following religion was
not analyzed by Max Weber during his studies on
world religions?

(A) Buddhism
(B) Christianity
(C) Totemism
(D) Confucianism

72. Which one of the following is not a feature
of bureaucracy according to Max Weber?

(A) Hierarchy

(B) Formality

(C) Subjectivity

(D) Rules and Procedures
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73. Whoisthe author of the book ‘The Structure
of Indian Society: Then and Now’?

(A) G.S. Ghurye
(B) S.C.Dube
(C) M. N. Srinivas
(D) A.M. Shah

74. Who among the following employed a
linguistic analogy to treat culture, not just as a
system of relations, but as a system of symbolic
relations, such as myths?

(A) Claude Levi-Strauss
(B) Louis Althusser

(C) Antonio Gramsci

(D) George Herbert Mead

75. The rationality that leads an actor to

transcend daily realities to understand the world as
meaningful cosmos is

(A) Theoretical Rationality
(B) Irrationality

(C) Layman Rationality
(D) Skilled Training

76. The work on ‘The Population of India and

Pakistan (1951)’ was a famous work by which
scholar?

(A) L. Visaria
(B) V.D’souza
(C) K. Davis
(D) Ashish Bose

77. Who among the following sociologists has
authored the book ‘Six Villages of Bengal’?

(A) Ram Krishna Mukherjee
(B) Radha Kamal Mukherjee
(C) Partha Nath Mukherjee
(D) Dhurjati Prasad Mukerji
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78. Who initially propounded ‘anarchism’ as a
scientific method?

(A) Thomas Kuhn
(B) Karl Popper
(C) Bruno Latour
(D) Paul Feyerabend

79. Which of the following assertion of Hegel’s
idealism rejected by Karl Marx?

(A) Labour as the essence of man

(B) People mustchange the social structure
in which they live

(C) Finite or empirical phenomena are not
ultimately real

(D) Empirical phenomena are understood
only as thought

80. Who used reflexive critique in his
engagement with Kantian philosophy?

(A) Karl Marx
(B) Friedrich Engels
(C) G.W.F. Hegel
(D) Max Weber

81. Which one of the following social categories
demanded two-third share of the produce through
the Tebhaga movement?

(A) Government from the cultivators
(B) Sharecroppers from the landowners

(C) Money lenders from the borrowing
cultivators

(D) Permanent farm workers from the
employers

82. What do you mean by M. K. Gandhi’s
notion of ‘Sarvodaya’?

(A) Equality for all
(B) The welfare of all
(C) Justice for all

(D) Liberty for all
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83. Which company was the leader in
developing G. M. technology globally?

(A) Ford
(B) Seatle
(C) Monsanto
(D) McDonald

84. What are the yardsticks to examine the
neutrality of any technology?

(A) Hardware and software

(B) Design and control

(C) Ownership over hardware alone
(D) Ownership over software alone

85. Who among the following hold the view
that an ‘Indian tribe’ is converted to an ‘Indian
caste’ whenitlostits territorial meaning and social
significance?

(A) Max Weber
(B) D. N. Majumdar
(C) T.N. Madan
(D) J. H. Hutton

86. “Allindividuals have experiences his or her
social environment in their own way”. —Who
among the following has made this statement?

(A) A. Schutz
(B) E. Durkheim
(C) G.H.Mead
(D) W. Dilthey

87. Which two of the systems were abolished
by the Hindu Succession Act passed in 19567

(A) Endogamy and Exogamy

(B) Monogamy and Polandry

(C) Mitakashara and Dayabhag System
(D) Caste and Varna System
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88. Who has divided family into ‘Family of
Orientation’ and ‘Family of Procreation’?
(A) Irawati Karve
(B) Ralph Linton
(C) I. P. Desai
(D) G. P. Murdock

89. Given below are two statements:
Statement-1 : Some major concept and
approaches about social change in
India can be grouped as
Sanskritization and Westernization.
Statement-II : The term Sanskritization was used
by M. N. Srinivas to describe the
process of structural transformation
in Indian Social structure.
In light of the above statements, choose the most
appropriate answer from the options given below:
(A) Both statement (I) and (II) are correct
(B) Bothstatement (I) and (II) are incorrect
(C) Statement (I) is correct, but statement
(II) is incorrect
(D) Statement (I)isincorrect, but statement
(IT) is correct

90. Which one of the following does not
represent functional imperative according to
Persons?

(A) Adaptation

(B) Goal attainment
(C) Assimilation
(D) Latency

91. Choose two primary causes of domestic
physical violence as per NFHS surveys and many
similar studies in India:

(1) Childlessness

(2) Economic Prosperity

(3) Intergenerational transmission of violence

(4) Higher level of education
Choose the correct combination from the options
given below:

(A) (1) and (2)
(B) (2) and (3)
(©) (1) and (3)
(D) (1) and (4)
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92. Which Mertonian concept lies between
minor working hypotheses and major conceptual
schemes?

(A) Manifest functions
(B) Middle-range theories
(C) Ethos of science

(D) Latent functions

93. Which one of the following definition

indicates alternative hypothesis?

(1) Itis one that stipulates the direction of the
expected difference or relationship.

(2) The hypothesis which we may decide to
accept if there is sufficient evidence.

(3) The hypothesis which initially seems to be
false, but may decide to accept if there is
sufficient evidence.

(4) It is assumed to be true unless there is a
strong evidence to the contrary.

Find the correct option:
(A) Both (1) and (2) are true
(B) Both (2) and (4) are true
(C©) @) istrue (1), (2) and (3) are false
(D) (2)is true (1), (3) and (4) are false

94. Which scholar had emphasized upon
‘Reflexivity’ and ‘Indexicality’ in his theoretical
analysis?

(A) Claude Levi-strauss
(B) Herbert Blumer
(C) G.H.Mead

(D) Alfred Schutz

95. Who among the following provided an
analysis of social stratification from a structural-
functional perspective?

(A) George Homans and Peter Blau

(B) Pitrim Sorokin and Geffrey Alexander
(C) Lewis A. Coser and Robert Merton
(D) Kingsley Davis and Wilbert E-Moore
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96. Match List-1 with List-11I:
List-1 (Methods) List-1I (Sociologists)
(a) Indirect experiment (1) Alfred Schutz
(b) Participant observation (ii) Wilhelm Dilthey
(ii1) Emile Durkheim
(iv) Bronislaw
Malinowski

(c) Phenomenology
(d) Evolving type of
culture

Select the correct code from the options given
below:

Codes:

@ ® (@© @@
@A) O G G Gv)
B) (i) aGv) @ (D)
<G Gv) O () (i)
D) Gy G Gv) @)

97. Theimpactofindustry onreligion, according
to Elton Mayo, is transformation from:

(A) A religious to non-religious society

(B) Anestablishment of normative to open
society

(C) A ritualistic to secular society

(D) An established to an adaptive society

98. Kanu Murmu and Sido Murmu were
associated with which one of the following
movements/rebellion?

(A) Santhal Rebellion
(B) Munda Rebellion
(C) Jharkhand Movement
(D) Tebhaga Movement

99. Which one of the following was not an
object of the first phase of land reforms in India?
(A) Abolition of intermediaries
(B) Commercial crop cultivation
(C) Land ceiling
(D) Distribution of surplus vested land
among the landless
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100. Match List-I with List-11I:
List-1 List-11

(Marital residence rule) (Name of rule)
(a) A rule specifies that a (1) Patrilocal
daughter stays with or residence

near her family after
marriage and her husband
move to where her family
resides.

(i1) Neolocal
residence

(b) It describes a pattern
where the couple lives
with or near the husband’s
mother’s brother.

(ii1) Matrilocal

residence

(c) It describes a pattern
where married children
leave their parents’
homes and live in a new
place separate from either
set of patterns.

(d) It specifics that a son
stays with or near his
family after marriage
and his wife moves to
where his family resides.

(iv) Avunculocal
residence

Find the correct one from the code given below:
Codes:

@ ® (@© (@@
A Gv) G G @)
B) @ aG) () (Gv)
G G @ (Gv) (i)
D) i) Gv) @@ ()
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